H

=9 =3 EQE
1 JACK'S(OFZ=CH) 11,019
2 PRIX(5 AFA{ ) 6,375
3 QHSHEH(QFAF) 5,718
4 2IA(READ 5,067
5 WS (Mot AHE) 5,019
6 JACK'S(AHE) 4,647
7 CIEZZIA(RNMEE) 4,275
8 QISHTLIOMERER( 4 3,960
9| CIEAHE@D@NMATIOE) 3,930
10 S-WON(H2k) 3,870
1 A (M) 2 AY(F7], AH, Z43)
=2 =3 ZOIE =2 =5 ZOIE
1 o z= 2 XH(O| of A A 2]) 5,019 1 JACK'S(O}=CH) 11,019
2| CIEAYHIDHATFIONE) 3,930 2 ol S} EH(QHAN 5,718
3 2A(204) 3,666 3 JACK'S(AHE) 4,647
4 CtEZ 2IA(O|EfRIH) 3,552 4 CIEZ2IA(RNEE) 4,275
5 CIEZ2IA(ZOH) 3,282 5 S-WON(9+2¥) 3,870
6 CtEZEAEEHY) 3,111 6 WFFHEGE=H) 2,979
7 TIC(A Al ofCh) 2,472 7 QoA (FE]) 2,811
8 EERE P E =1 2,166 8 Bean Cha(#2|) 2,487
8 2A0|Y 2F/(MHE) 2,166 9 S80BEERRA(LIFZEH) 2,463
10 AQE (AR 2,037 10 M I O D5 QF ) 2,067
11 Red in(&t2h 2,022 11 82| H| {32 A (4 2) 1,947
12 H| O H = H|O| E(51}) 1,920 12 WEAS (A=) 1,794
13 WM (EMH) 1,785 13 MVB PUB(H 2 1,785
14 SAKUSAKU(E0)) 1,638 14| LASIZALIH(YLY 1,662
15 AE(YEm) 1,497 15 Rl P SES) 1,626
16 ElEZILX|(ZLH) 1,446 15 HAMZ = (I L) 1,626
17 QUHIE 2 A(Z3|L)) 1,443 17 A2 0|X| HoO|(QAE) 1,491
18 HfEFHH (Y S ) 1,434 18 King(QI& ¢1=x) 1,335
19 NI A (H=) 1,395 19 S8OBEERRA(Z L35}H) 1,323
20 R SIS E~ ] 1,365 20 OH 2= 2 (11} 35) 1,272




HY (™, 55, S AF, EF L, IF) 4 (R4 o7, 24 FH, B5)

=9 =3 ZOIE =2 =9 ZOIE
1 ol 8} L}OFEFEH(Z A 3,960 1 PRIX(5AFA{H) 6,375
2 A-PUB(MOLEH) 2,778 2 FItA (R4 5,067
3 HI|AEZIO| A (W H) 2,169 3 =HalAZsl) 3,228
4 S&S(4AH 2,136 4 22 X|CoCo(74H|) 2,487
5 HHE (H Z) 2,046 5| MONSTER(CHTIS M) 2,484
6 S (AR 1,878 6 EilliS (A=) 2,265
7 Shot(X| ) 1,833 7 ol 7p74 | (Fa|) 1,932
8 2| 7| HH(I4h 1,515 8 DONNA(CHT) 1,908
9 DHSHEH(Q A 1,428 9 H=g(E4h 1,779
10 TLC(Z4h 1,227 10 HFA ZH| 0 (Z A TH) 1,680
11 EN[ESES) 1,062 11 7{ 8l (x+2)) 1,659
12 MAD(Z|7d) 894 11 QH|O|(EAE ) 1,659
13 Lt=2|(F 0 753 13 C|H| H9(E A 1,596
14 O}Z}O|(CH M = Ah 741 14 AIR ROOFTOP(¥.Ah 1,533
15 UMB(ZAH 678 15 STARS 501(CH) 1,527
16 BURN(ZF) 630 16 Of| AHHEZSEA|LYA) 1,413
17 OFEl(CYA) 618 17 O Bar(X| &) 1,335
18 CIEOIS (M F) 504 18 700H| 0f (30| Xl ) 1,323
19 SO (L) 489 19 J-bucks(24h 1,185
20 UESFEEGT(HF) 474 20 = TH[0 (B4 1,140




